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A) loose connective tissue B) reticular connective tissue C) elastic connective tissue
D) spongy.
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37. The major target of antidiuretic hormone is
A) the skin. B) the stomach. C) the kidneys. D) the hypothalamus.
38. A deficiency of dietary cholesterol would decrease the production of
A) melatonin.  B) glucagon. C) atrial natriuretic hormone. D) estradiol-17
39. Thyroid hormones bind to receptors which
A) regulate gene transcription. B) activate tyrosine kinase. C) stimulate production of
diacyl glycerol. D) stimulate production of cyclic AMP.
40. Many growth factors use
A) cAMP as a second messenger. B) tyrosine kinase as a second messenger. C)
calmodulin as a second messenger. D) cGMP as a second messenger.
41. The thyroid gland would secrete
A) glucagon. B) calcitonin. C) parathyroid hormone. D) thyroid stimulating hormone.
42. Hormones which enhance the responsiveness of a target organ to a second hormone have
A) synergistic effects. B) permissive effects. C) antagonistic effects. D) complementary
effects.
43. In mammals, uric acid is produced from what molecules?
A) carbohydrates  B) lipids  C) amino acids D) purine nucleotides.
44. During embryonic growth in eggs of birds, what nitrogenous waste is formed?
A)urea B)uricacid C)ammonia D) nucleic acids.
45. Which animal’s urine is hypertonic to blood?
A) fish ~ B) mammal C) reptile D) amphibian.
46. What is the fish excretory organ?
A) pancreas B) kidney C) liver D)spleen
47 Please indicate which one is not the hypersensitivity mediators
A) prostaglandin  B)leucotriene C)histamine D)ionophore
48.Which one Ig is responsible for type I hypersensitivity
A)IlgA B)IgG C)igD D)IgE
49. Which of the following is found primarily within the hypodermal layer of the skin?
A) Adipose tissue  B) Nervous tissue  C) Blood vessels D) Hair cells

50. Homeostasis is best thought of as being a state of
A) constant fluctuation  B) stasis  C) dynamic constancy D) inconsistency



